Sumar Enteros (B)

Emplee una estrategia de enteros para encontrar cada respuesta.

(-17) + (-93) = (-58) + 36 = 58 + (-38) =
14 + 63 = (-38) + 10 = (-23) + 79 =
36 + 26 = (-40) + 79 = 23 + (-65) =
(-62) + 87 = (-17) + (-8) = (-52) + (-93) =
(-41) + (-60) = 42 +15 = (-10) + (-31) =
(-40) + 37 = 55 + (-61) = 1+(-98) =

47 +58 = 98 + 54 = 71 +90 =

9+ (-79) = (-42) + 79 = (-43) + 46 =
51+ 89 = (-54) + (-59) = 1+69-=

64 + 4 = (-87) + 65 = (-14) + 64 =
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Sumar Enteros (B) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

(-17) + (-93) =
= (-110)

14 + 63 =
=77

36 +26=
=62

(-62) + 87 =
=25

(-41) + (-60) =
= (-101)

(-40) + 37 =
= (-3)

47 + 58 =
=105

9+ (-79) =
=(-70)

51+89=
=140

64 +4 =
=68

(-58) + 36 =
= (-22)

(-38) + 10 =
= (-28)

(-40) + 79 =
=39

(-17) + (-8) =
= (-25)

42 + 15 =
=57

55+ (-61) =
- (-6)

98 + 54 =
=152

(-42) + 79 =
=37

(-54) + (-59) =
= (-113)

(-87) + 65 =
= (-22)

58 + (-38) =
=20

(-23)+79 =
=56

23 + (-65) =
= (-42)

(-52) + (-93) =
= (-145)

(-10) + (-31) =
= (-41)

1+(-98) =
= (-97)

71+90=
=161

(-43) + 46 =
=3

1+69=
=70

(-14) + 64 =
=50
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